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What is sucked in cylinder in 4-stroke diesel engine during suction stroke 2 T
(A) Air-Fuel Mixture (B) Air only k ' ,Lu\i}i&%"{ﬁ:ég o : B )
(C) Fuel only {D) None of these jgj fﬁfjjm iiﬁg%? gif/}wiﬁg ja,?&
) helps in keeping parts cool.

dl :“‘\:fc?-’ T §9 W T A (Ve @) & Ao Rt ¥ Rewer gy (WeE) g | %@LE *«J;&fi@ﬁ; a;a;f};;i;;;fi;%av,f;yé dirt.
g7 (D) all of these
(A) =g-3Tu7 e (B) &aw s wEH o
(C) Faw T (D) T ¢ B E (A) TEEEE S EET B &9 6T §

(B) Uit & Fer e ¥ wEET e ¥

2 Engine Bearing Material Babbit is an alloy of : (C) % &l §T% & ¢ O e

(A) Tin, Copper, Lead, Antimony (B) Tin, Copper, Zinc | (D) ¥ wd
(C) Cadmium, Copper, Nickel (D) Tin, Copper, Lead, Phosphorus |
o gl vard e @ Mg ug ¥ 8  The following is (are) the advantage(s) of water cooling over air cooling system
(A) F=, gl (@), 9 e (B) =, dfer @n), s (W) (A) mechanical noise is reduced
(C) Fefrm, o (@), Pew (D) fo=, dfEr (BFR), 9, BREE (B) temperature of engine parts is more uniform

(C) both (A) and (B)

3 In a four stroke cycle engine camshaft revolves at which speed of crank ? (D) none of these N N i .
(A) two times (B) half SEEEIREE] W 1 g Siae YTl @ gen 9 e @ g8
(C) four times (D) three times (A) @i 9T B9 B § .
TgEle Tma 9 X e o ey iy v e gt ¥ 7 : (B) = % S T A S e
(A) g (B) amdh ~ © {Ai a (B) =il
(C) = T (D) &= T (D) =9 ¥ ®ig 7@l
) _ . : g Dip-stick is used for measurement of oil level in
4  The weight Qﬁi ﬁyvi/heez depends upon o . ( A’*} Crank case (B) Gear Box
(A) length of engine (B) height of engine ' L .
(C) weight of engine D) no. of cvlinders i i (C) Piston rings (D) Bearings
g gine (D) no. of cylinders in engine Rov R BT I @7 WY AT o
R e B A P F , . (A) ¥w Ba ¥ (B) P T &
(A) Fom @t T T (B) & 1 G T (C) Rrees Tog A (D) fyafer §
(C) = % av9 W (D) =7 ¥ Rt & d@ W -
16 Grease is used in
5 The angle of prick punch is (A) Wheel Bearings (B) Piston
s T w1 B BT § (C) Gear Box (D) Valve
(A) 30° (B) 90° 0 @ ganT feear ST §
(C) 75° (D) 120° , (A) @w i o (B) fyes ¥
~ (C) Prx o ¥ (D) T o
6  Which marking media is used for marking on machined surfaces ?
(A) Chalk (B) Pursian Blue 11 In Diesel Engine, Direct Fuel Injection is done at
(C) Copper sulphate solution (D) None of these (A Low Temperature (B) High Pressure
asie waEl UT o BT & g s siew wremm (b D) voew s € 7 {C) Low Pressure (D) High Temperature
(A) =i (B) R H TWE IO K WY SO orguer (sVeer) feper wrw ¥
(©) e dd a (D) = ¥ B (A) B A W (B) v 3@ X
(C) P @ W (D) S @9 9%
; y 1 3
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12 The reason of Engine overheating is :
{A) Leak in the cooling system (B) Faulty charging system
(C) Faulty solenoid (D) Low Injector pressure
o % ofre T O BT B §
(A) Naww gomer § e (B) =i ol § 29
(C) gl HeEs (D) B9 o=dve (Foeel) a9
13 The turbocharger uses ; :
(A) engine energy (B) -%z‘gy of exhaust gases
(C) steam energy (D)) waler energy from radiator
TEET HE O W ©
(A) 359 T B (B) e 9l & el @
(C) =T ol @ (D) ey ¥ ww et @
14 Compression Ratio is expressed as
@) (=R )/ ®) (7=7)/",
© ([T +7 )/ @) (7 +7.)/%
Where, ¥, = Swept volume, V. = Clearance volume
TORT o e TRl SR ¥
&) (=r)f. ®) (7=%)/"
© (v +¥ )7 @) (1 +7.)/7,
TEl, V, = Q< G, V, = TG T
15 Supercharging is essential in
(A) diesel engine (B) petrol engine
(C) gas turbines (D) aircraft engines
AR STESTE ©
(A) 3w 99 ° (B) o 359 o
(C) w el o (D) T 3o o
16 The compression ratio in a petrol engine is generally in between
(A) 7t010 (B) 1010 14
(C) 141018 (D) 181022
Yo IO H I SuR W fre % wem dar ¥
(A) 7910 (B) 103 14
(C© 14w 18 (D) 18922
60_(1918)] = 4
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17 Generally the shape of head lamp reflector of vehicles is
{A) sz}%sm:&z (B} parabolic
- {C) hyperbolic (D) convex
T AR o TR UE® @i NG Bl §
(A) TR (B) wawE@E
(C) FRTUREEaET (D) ST

18 Minimum temperature inside the cylinder of a
{A) Beginning of suction stroke By kb
(C) End of expansion stroke
4wy gor o fgevey & Hiay |gEay aOEE BT §

End of compressi

(A) T € & Yoo H (B) ¥ &% & o &
(C) ware &% & o o (D) ware ®e &
19 Alternator works on the following principle
(A) self and mutual induction
(B) Faraday's law of electromagnetic induction
(C) self mutual induction
(D) mutual induction
yamEfay 9 era W e & ©
(A) @ ud o= oo
(B) T @ f¥gy g U9 @ EE
(C) @ =g U@
(D) oFgEFg T
20 The function of Dynamo is to
(A) Convert Electrical Energy into Mechanical Energy
(B) Convert Mechanical Energy into Electrical Energy
(C) Convert Chemical Energy into Electrical Energy
(D) Convert Chemical Energy into Mechanical Energy
SEE BT BY §
(A) T @ @ o ool A of@ka &
(B) =if=e wwl & fuge owl ¥ wfEaka &
(C) <emhe I9t & foEm o ¥ ot w6
(D) Emate ool & witss I § aiaida &
21 Solenoid switch in a starter circuit is
(A) Electromagnetic (B) Electrical
(C) Mechanical (D) Electromechanical
=ret ghay ¥ gemee R b
(A) T gr (B) gl
(C) = (D) Fga-—atss

60 (1918)] == 5
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22

23

24

Connecting rod of a §
(Ay Compt
(C)y Side thrust only

kY

our stroke en
ression and twisting

ine is subjected to which forces ?
(B) Compression and side thrust
(D} Compression and tension

Ul SO B GG B Y e o o 'y § 7

2

o

(A) T wd Uo7 W gNE &

(C) »aw %S I& &

Combination pliers are not used for

(A) Cutting
{C) Hammering

(B) ©iEw U¥ UES YR &
(D) ddew wd a9E %

(B) Twisting
(D) Gripping

HEHE goar (wred) @ wE e ¥ aE g ®

(A) wd ¥
(C) wfm o

Circlip plier is also known as

{A) snap ring plier
(C) (A) and (B) both

TRy SO (WRY) @ W ST §

(A w9 o gdmm
(C) (A= (B) A

Which plier is used to hold the component

(A) Combination plier
{C) Long Nose plier

T 91 B SRl 9 SraTal B UhEs & g sEer gl (WE) vgEd sar 8 7

(A) HrEFReE T
(C) w1 9w |l

Bent snips are used for
(A) support round articles

(C) to cut along a curved line

(A) T SEgell @ WETU &Y % fug

(C) =% T & #e & fg

®) ot ¥
(D) BT &

(B) retaining ring plier
(D) None of these

(B) fefn for sl
(D) 378 ¥ ®ig 7

(B) Side Cutting plier
(D) Multigrip plier
(B) wEs wiET wla
(D) = wla

(B) making round holes
(D) making a groove

(B) 7w fox oM & fo
(D) @ oA & Wy

Cutting blade corners of snip are grinded at

9 & BT S F B B BY BT I OES fhar ST § 7

(A) 45°
(C) 75°

60 (1918)] ==

(B) 60°
(D) 80°
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32

In which injection system only one pump is sufficient for multicylinder engine 7
(A air (B) mechanical
- (C) compression fuel "

L} common ran

N - § 2, = . " o =3
Gy g g ¥ SIS g9 % giﬁt Jen B UM OGO B

(A) T (B) uiftmr
(C) dfew sum (D) =& @
Paper air filter is known as
(Ay Dry filter (B) Oil sogked air filter
(C) Qil bath type air filter (D) All of these
TS €Tg B B W I §
(A) q@r o (B) @@ «rm =g wew

(C) T T W 9y B

In the diesel engine, the fuel is ignited by

(A} combustion chamber (B) injected fuel
(C) heat of compression (D) spark plugs

i SO W SUN o) yoalivg [ReaT Wier §

(A) T®F ®F T (B) efmafm duw 7w
(C) WU & & B (D) W% @ EQ

The high back pressure is responsible in engine exhaust system

(A) Increase in efficiency {(B) Increase in performance
(C) Decrease of fresh air supply (D) (A) and (B) both

gwe Proerg ol © 9w Uve T RTEER T

(A) T B W B [T (B) o= @ 89 & WY
(C) @@= 91y gl &9 &4 % Wy (D) (A) &t (B) €=t

Scavenging air in diesel engine means

(A) air used for combustion sent under pressure

(B) forced air for cooling cylinder

(C) burnt air containing products of combustion

(D) air used for forcing burnt gases out of engine's cylinder during the exhaust
period

e E9E H o arg & ol §

(A) w59 % g Tee ® O S 9

(B) fevex & v & fg o (wnfe) @

(C) e g3 a1g e 587 % SqE 9w &

(D) Freere o o do Taoest © R g8 T @ seel et Pemn & e T ey

60 (1918)] == 7 [PT.O.



33 The gear on the camshaft is known as
(A} Timing gear (B) Worm gear
) ?‘uﬁmg gear (D) Idler gear
Srgnee & BRI @ W 9 8
(A) =ERfT ey (B) =@ FRR
(C) =g frat (D) amgsex FET
34 A four stroke engine produces one power stroke in
(A) 4 revolutions of crankshaft (B) 2 revolutions of crankshaft
(C) 1 revolution of crankshaft (D} 3 revolutions of crankshafi
T TgE 39, O O TW (E%) 3T §
(A) HeweZ & 4 g ¥ (B) HHWME & 2 TEHT §
(C) Hmomee & | 996§ (D) %o & 3 T o
35 In a two stroke engine
(A) The inlet port is open when the exhaust port is closed
(B) The inlet and exhaust ports are opened at the same time
(C) The inlet valve is closed during the exhaust stroke
(D) The exhaust valve is closed during the suction stroke
(A) T 9 GET A & 99 e U §% 8
(B) w7 aur e O U@ € 999 9 gW WA
(C) T €% % o9Y 0T 9% §5 ®d §
(D) T T H w99 e g €1 A §
36 A diesel engine as compared to pertrol engine is
{A) Less efficient (B) More efficient
(C) Equally efficient (D) Not prediciable
dior SO, Yo IO @ ge & g ¥
(A) &9 &% (B) Tl &
(C) o =« (D) wer W&l 5T god
37 Why is the exhaust pipe of engine covered with insulating material ?
(A} To keep the exhaust pipe warm
(B) To prevent heat transfer to the engine room
(C) To increase engine efficiency
(D) To conserve heat
o @ e aIsd e A (Gl Sefae) € R sl i ¥ o7
(A) Trerg amT & T @A H Rg
(B) o &y ¥ W @ wW § Uea & /g
(C) <o =ear & 95 & [
(D) wo g B F R
60_(1918)] == 8
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38

46

42

43

The commercial lead acid cell has
TG Te T YE ¥ 13 we ¥
A 6
cy 7

A rectangular file having teeth in bottom surface and used in automobiles is calle

(A) Crossing file
(C) Barret file

plates, the number @ positive plates would be

. S
SEHSR W W \‘m{}‘*gz CN I

(%:‘z} @
(o 9

[0

(B) Tinker file
s\i%} All of i%’w

ol v it :g_..@? e A B 3.
& ic;m%@%sﬁ s EREN Bl I HIUGRRTY S N e a8 YUY QK B v, HETKRH ‘é

(A) T &
(C) Iw @

This V-block is used for giving sup

(B) fe=my @
(D) ¥ ol

port to long shaft at Marking table

(A) Single level Single Groove V-Block
{B) Single level Double Groove V-Block

(C) Paired V-Block
(D) Magnetic V-Block

@%w@*@f{&%w Aﬁ‘i}ﬁ‘fﬁ@%’fﬁ“m gETy 3N & RT3 O - @7 SUEN BT

(A) THW WOE UHE Qe A-sis
(B) Uad WO@ aE0 GE a6
(C) ghwa d-=iw

(D) gEHY A%

Which one of the following tool is used for removing a broken tap 7

(A) tap disposer
(C) tap extractor

(B) tap wrench
(D) tap nut

frafafea & ¥ @Fer STE 58 <0 @I e & e o § 7

(A) =9 e
(C) %u wwrgaRy

File card is used for

(A) cleaning the work piece

(C) renewing the file teeth

Y BE BT UGN Bl ¥

(A) ®EEYT & 9 S o

(©) & % =t W g T o A

(B) ==
(D) 2w =

(B} cleaning the file teeth
(D) cleaning the chips

(B) &%
(D) fou & gwE o

Angle between the cutting edges of drill is

{A) Rack angle
{C) Point angle

5@ ¥ BT uSw & 9 W B R @

(A) & B
(C) &g =

60 (1918)] ==

(B) Web angle
(D) Flute angle

(B) o§ w
(D) wE B
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44 Try square is used to check which angle 7

i 1 T R W @ e o feer e § 7
(A) 30° (B) 45°
©) 60° (D) 90°

45 A micrometer has a negative error of 0.02 mm. What is the correct measurement when

it measures 19.51 mm 7

(A) 1949 mm (B) 19.53 mm
(C) 1947 mm (D) 19.50 mm
T AEmEel ® 0.02 Bl @ e v ¥ 1w ww 1951 Bl wee v A 9 A
(A) 19.49 fren (B) 19.53 &
(C) 19.47 f=r (D) 19.50 fn

46 Which is used to tighten the cylinder head bolt ?
(A) Open Ended spanner (B) Torque wrench
(C) Ring spanner (D) Adjustable spanner
fyavet ¥s 9w @ wu % o Y vge fewr W & 7
(A) ga Ry ax (B) @& &
(C) for @9 (D) RN &Y

47 Gaskets are used in automobiles
(A) To stop the leakage of lubricant
(B) To stop the leakage of coolant
(C) To stop the leakage of air/combustion gases
(D) Al of these
R § ohe B Sud BT §
(A) we & e & e & W
(B) sfaww & Ram@ & e & g
(C) wajay 9l & Rae s % e
(D) ¥ =¥

48 Force fit is used in
(A) Shaft and Pulley
(C) Shaft and Bearing
W Rz e B 3
(A) e Tur R o
(C) e qur feafor o

(B) Shaft and Gear
(D) Sleeve and Cylinder

(B) e @ar PR ®
(D) wig Ty Rawsy o

60 _(1918)] == 10
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51

52

53

54

in Engine, Turbocharger is run by the power of
{A) Engine
(C) Exhaust Gas

g5 § eSramie pad uhe § ol Ber % ¢
{(A) 399 (B) =0
(C) P (D) gIEE
The operation of forcing additional air under pressure in the engine cylinder is
(A) cooling (B) turbulence
(Cy pre ignition (D) supercharging
3

gw Taeest ¥ el ofse s & 9 Seer §

(A) ofgew (B) fagm

(C) qd wuw (D) gorcartT

What is muffling 7

{A) reducing vibration (B) increasing the flow of gas
(C) reducing noise (D) filtering the exhaust air
AERT T 8 7

(A) &I B B F (B) 9 & va® @ A% B
(C) 9 &l & B (D) T S/ & W% B

Ignition quality of diesel is expressed by
(A) octane number (B) cetane number
(C) calorific value (D) carbon content
ST B YoaE O B @ e e §
(A) o= TR B (B) €T T B
(C) g 79 7 (D) &EE AT ']

Marine engines are normally

(A) air cooled (B) water cooled
(C) oil cooled (D) forced air cooled
TR FO QIR B §

(A) =g siafaa (B) & defad
(C) ow falee (D) w@E 9y g
oy

Electronic fuel injection (EFI) system can achieve
(A) proper injection timing (B) proper injection quantity
) proper injection pressure (D) all of these
J Pprop ; p v
& . . .
sege e SuF oy (5. U%. oE.) WOl F OUTd @Y 9%d §
(A) shug sfadun gug Faa (B whyg s wmy
(C) ofuw st o (D) ¥ @

60 (1918)] == i1
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55 The size of inlet valve of an engine in comparison to exhaust valve is
{A) more
(B) less
{(C) same
(D) more/less depending on the capacity of engine
T I F YA O BT STHR e g @ @ SR §
(A) vy
(B) =%
(C) =
(D) wawifed 99 & o 9T felk e ¥
56 Updraft carburettor are fitted
{A) Below the inlet manifold (B) Above the inlet manifold
(C) With inlet manifold and in line (D) None of these
FUETH HRYRL fhe 7y o §
(A) T TrEES & Y (B) T T FHGRE & BT
(O e s oy w gt § (D) &% € & 78
57 Oxygen sensors are mounted on the
(A) Inlet Manifold
(B) Exhaust system before the catalytic converter
(C) Crank shaft
(D) Brake Pedal
RIS TR @ 5T BN §
(A) T TR O
(B) w0 (heweie) wiedes ¥ e few @ €
(C) %o e T
(D) 3% Ts@ W
58 In which type of fuel vehicles, the ignition system is used ?
(A) diesel (B) petrol
(C) (A) and (B) both (D) None of these
TOEEE YO T TAN REE W % fuW a Al o fhar Wen g
(A) S| (B) Ugiw
(C) (A)a (B) I (D) T ¥ 35 7l
59 Which sensor senses the amount of oxygen in the engine exhaust and air-fuel ratio 7
(A) engine temperature (B) air flow
(C) exhaust gas (D) air inlet temperature
SaT Foew (FR) 39 Ferg ¥ ofeiew @ W UF I-SET oUW & TeeEdl § ¢
(A) Eo T (B) =g wae
(C) Terg T (D) /g yaST THA
60 (1918)] == 12 [PTO.

60 A cutling tool used to finish and enlarge a hole is known as
(A) drill (B} reamer
{C) tap (D) die
uw Ty @ ulioepa OF 991 6 & B O I BaT ST %) ST Wil §
(A) TOT (By WY
(C) 2= (D) =1
61  HVAC means
(A) heating, ventilation and air conditioning
(B) heating, ventilation &né air cooling
(C) humidification, vaporisation and air conditioning

(D) humidification, ventilation and air cooling
T 9w W owm o ¥

(A) o, g €O oK Sargad

(B) @, Iy €9 SR a1g oiaed

(C) oo, arsfle e &K g

(D) omgle, ag §9r o) g siaem

62 Which of the following parameters are controlled in Comfort Air Conditioning 7

(A) Temperature (B) Humidity
(C) Air velocity (B) All of these
e ¥ ¥ SN Uevs oTRE (FWhe) ararges § ks ey i €7

(A) a9 (B) omar
(C) =g & 7 (D) ¥ 8
63 The process in winter air conditioning is
(A) dehumidification (B) heating and humidification
(C) humidification (D) cooling and dehumidification
ST aTaTEes ¥ giedr g ¥
(A) Frogle (B) W BT TE ITHIH
(C) gl (D) @v=t wen o Frodle

P

64 The device used to measure the clearance between the valve and tappet is
(A) Feeler gauge (B) Snap gauge
(C) Slip gauge (D) Micrometer
Ted ST ¢fUT & W TG OY A % e o o giel §
(A) Reat i@ (B) wu I
(C) g = (D) aEmHRET

vvvvvv
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=

hich type of tolerance is provided in drilling mostly 7
(A) Bilateral (B) Unilateral
(D) Compound

T (Rl & afvear e gore o givwgar & Wi & 7
(A) T (B) wwaTH
(C) T=aTE (D) Prisa

66 In a shaft based Tolerance system
(A) Tolerance is given on hole.
(B) Shaft size is kept fixed.
(C) Hole size is kept fixed.
(D) Tolerance is given on both hole and shafi.
wfewar (Eeea)e ywe snuTa ol o
(A) 58 (319) 9T If@eT & Wl ¥
(B) T @ @R (9EW) RUR <@ 9N ¥
(C) Tog & s (aEw) Rex @ wn ¢
(D) Tz ¥ smwe EFT WX W (Sfaw) & Sl S |

67 In a Clearance Fit
{A) Size of shaft is bigger than Hole.
(B) Size of hole is bigger than shaft.
(C) Size of shaft is equal fo hole.
(D) None of these
ety fiee o
(A) 9Te T ST (Sge) Mg ¥ wer g ¥
(B) fisg @1 aneett (TTEw) 9% € weT BN ¥
(C) e wd 5% & SR wHE BT T
(D) T § &g T

68 The algebraic difference between the actual size and basic size of a job is known as
(A) Upper deviation (B) Lower deviation
(C) Actual deviation (D) Fundamental deviation

Rrdl WY @ Trafas w9 T AW A9 & SR SR B wEd § -

(A) S0 faaee (B) e faae=
(C) arafes faaem (D) o e

69 What is done {o increase the life
(A) surface hardening {B) hardening
(C) hardening and tempering (D) tempering

of cutting edge of chisel ?

(A) was HIRW (B) w3
(C) w3y g Twfen (D) Tmfe
60 (1918)] == 14 [PT.O.

72

73

D e T S

n Electronic Diesel Control System — Actuators are used for changing
A) Electrical Indication to Mechanical Action

B} Elecirical Action to Mechanical Indication

) Mechanical Indication to Electrical Acé:i@ﬁ

(D) Mechanical Action to Electrical Indi mmi

o Sow o gurll (Gew Reew) ¥t (egued) ofERa ww
(A) T dowa @ i B &

(B) fogdw e @ ﬂ'?r:»gm ;f:m i
(C) wifs doa @
(D) =t fean a@’ EERIE wﬁ?

?“r}“?g,g}
i)

Which emission is reduced by Exhaust gas recirculation valve
(A) Nitrogen Oxide (B) Hydrocarbon
(Cy Carbon monoxide (D) All of these

m%wqﬁw I B Y SO B B BT S 7

(A) RN ATFUTES (B) smgmES
(C) oEw AFeTeEEs (D) ¥ =

The function of automobile catalytic converter is to control emissions of

{A) carbon monoxide and hydrogen

(B) carbon dioxide and hydrogen

(C) carbon monoxide and carbon dioxide
(D) carbon monoxide and nitrogen dioxide

e SAs GREds (St weet) @ e
(A) wET AFEEEEE T SRS

(B) @eY SHIGESS S TEEET

(C) wE" IFRIEE ol HeY SHEOEs

(D) wEw AFTIEE oK AR SRS

The function of cut-out in a charging circuif is
(A) Connect discharge battery to dynamo

(B) Disconnect charge battery from dynamo
(C) (A) and (B) both

(D) MNone of these

Ty oy ¥ $e-amee @ e §

(A) et 8 & sroaa @ e §

(B) = ¥ & s § o Bl §

(C) (A) gur (B) g

(D) ¥ ¥ B T

1918)] == 15
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[

76

77

78

60 (1918)] == 16 [PT.

In injection system, removal of air from the pipeline is termed as
{A) bleeding (B) wound
(C) sweating (D) none of these

Stendqer guel ¥ ISR © BaT %) §OMT @ Wial §

(A) =fEm B T=
(C) | (D) T ¥ @iy 78

Ignition timing of a multicylinder S.1. engine can be adjusted by
(A) rotating the cam shaft (B} adjusting the generator pulley
(C) rotating the distributor (D) adjusting the pump pulley

S oot g, oS, 3 % YouE §RY %) G fear S e ¥

(A) FANTE B GAERY (B) X TEI @ GHIOIRNG Bl

(C) T & gamet (D) T GWT @ TR B

Which parameter of Spark Ignition Engine is lowered by using Fuel Injection system ?
(A) Thermal Efficiency (B) Volumetric Efficiency

(C) (A) and (B) both (D) Exhaust Emission

W T (M) $99 & 6T HT9eTE @Y S S @9 YOl g1 %N 5uT S @ear § 7
(A) T (ydw) geran (B) orgaies e

(C) (A) T (B) a=t (D) Fom SoeH

What is used in Electronic Diesel control system for changing electric signal into
mechanical action 7

{A) Oxygen sensor (B) Actuators

(C) Fuel Rack Position sensors (D) Crank sensor

seaee Sww e s ¥ sefes g% o ot e o ofelles e % e wn
TgET B & 7

(A) STadeH 9T

(C) Zwm (o Uiy 99gs

(B) vade (TFgued)
(D) %® dags

Electronic Control Unit (ECU) has
(A) Microprocessor

(C) Analog to digital converter
o Pt g Gdig) ¥ e ¥

(B) Memory unit
(D) Al of these

(A) TEBEEET (B) 0 g
(C) wImm § Rfvew aheds (D) ¥ ad

o]
©

79 Fire is a combination of
{A) Fuel, light and oxygen {(B) Fuel, heat and oxvgen
(C) Fuel, heat and carbon dixoide (D) Fuel. light and nitroger
(A) e, gamer ol el e (B) Fum, o it sfedem @
(C) Fem, 9 oI HEw o Weggs B (D) Suw, g o TR 6
80  Which type of indicator is shown in figure 7
/\
{ f\\
/) / B\
/’/
/NN
\
/ LA N
(A) Informative symbol (B) Mandatory symbol
{C) Prohibitory symbol (D) Warning symbol
o o weldfe "o e ve w7
(A) TEITE d%a (B) ethad d&a
(C) Frdurem d%q (D) <Es g
81 Which of the following pairs is correct for Energy conservation opportunities ?
(A) Class A — Major Energy Conservation Opportunities
(B) Class B — Medium Energy Conservation Opportunities
(C) Class C — Minor Energy Conservation Opportunities
(D) All of these
ol EXE9 eramd o St ¥ 3 @ e ogm e % 7
(A o A - Rrga ol S ST
(B) <eft B — weaw oot GR&W S1a€X
(C) 99 C — &g Tl W oad
(D) o T
60 (1918)] == 17 [ PT.O.
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84

85

86

87

Life of Cylinder Block is increased by

(A} Liner (B) Case Hardening
(C) Chromium coating (D} Carburising

L LAY By

RARvsT &6 % SET @ SRl Wil ¥

(A) ¥R OET (B) %9 wEh g

(C) wiftmw & = (D) SIREENT &g

Who serves as a support and enclosure for moving parts ?

(A) Piston (B) Cylinder head

(C) Cylinder block (D) Connecting rod

(A) fres (B) fweret®s

(C) Rt =le (D) 9% B8 (BRRT US)

Which one is attached to the bottom face of cylinder block ?

(A) crank case (B) oil pan

(C) piston (D) cylinder liners
et =% % Ed 7o 9T Y et mr y 7

(A) %% &g (B) agd U=

(C) frew (D) Rewrst @

Which is not the basic component of cooling system ?
(A) Thermo switch (B) Thermostat

(C) Water pump (D) Spurt Holes and Gallery
i yonEl o difes oraue Gmer 9 b 7

(A w-Reg (B) ARz

(C) =X um (D) ER &g T AW

In thermosyphon system there is (are)

(A) no pump (B) one pump

(C) two pumps (D) three pumps

JIEEET Yorer ¥ €T §/5R ¥

(A) @i T & (B) ws 99

(C) & 9= (D) & 9w

Which type of radiator cap is used in the pressurized cooling system ?

(B) Pressure cap
(D) Vacuum valve

{(A) Normal cap
(C) (A) and (B) both

W%ﬁaﬁﬁm&%ﬁam{ % TR TaHT B WA T § 7

(A) WHERY oaHA
(©) (A) = (B) I

(B) =W waww

(D) =g T

(1918)] == 18
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88 In a parallel circuit connection of a batiery, the total current is given by
where
B = Electromagnetic Force
R = Load Resistance
r = Internal Resistance of a cell
n = Number of cell
(A) ] = (B) =
£ oo
rt— -+ R
¥ 7
", E o M
<) I= (D) None of these
R4r
§=0 & warer U ofg ¥ oW fga o & 9 B §
wEl
E = {qga greem s«
R = @ie ulqy
r = U B ARG TR
n = 9d B g
E E
(&) [=— (B) [=—
g o
L —+R
# 1
. ) o .
C) I=—"— (D) T ¢ =g -
R+vr
89  When an engine is staried from cold condition it requires a
(A} leaner mixture (B) reacher mixture
(C) chemically equal (D) none of these
W U 39 @ 48! Rl ¥ I fewr W ¥ o 9% evaguesar s §
(A) @ Prsror & (B) wrs o &Y
(C) b ge w (D) =% ¥ B we
90 Field coil of self starter is made up of
{A) Copper (B) Aluminium
(C) Lead (D) Steel
UTF WRT B B BE0 S Bl §
(A @ @y (B) qeghibmm &
(C) ¥ = (D) T@@ @
60 (1918)] == 19

[PT.O.




92

93

94

95

In carburettor, choke is incorporated

{A) before the venturi (B) after the venturi
(C) in the venturi (D) none of these
Fex ¥ o @ v o

(A) 0 F wE (B) ol % Uy
(©) =g (D) s ¥ & =8

Where is the position of Regulator in charging circuit ?

{A) Just afier Dynamo (B) Betfore Dynamo
(Cy After Battery (D) None of these
gifsty oy # Freme (ogeet) oef W Rug e ¥ 7

(A) SR & gl W (B) TOEAl % TR
(C) &0 & 9= (D) % ¥ @rg 7

What do batteries emit while charging ?

(A) Nitrogen (B) Oxygen
(C) Hydrogen (D) Carbon
i & dm Selat war Swite e € 7

(A) =g (B) eierderT
(C) wmEgrem (D) e

The correct sequence of flow of current in battery coil ignition system

Sl wisw T TR K 9T & WA @ URl B9

B = Battery

A = Ammeter

IC = Ignition Coll

D = Distributor

SP = Spark Plug

(A) B-A-IC-D-SP (Se{r-ordfee-sRaem siga—fmes—amd w)

(B) B-IC-A-D-SP (S={-3fmym sige—srder—Rreres—ad @)
(C) B-A-D-IC-SP (S=li—srfet-fame—siaee sisa-wms )
(D) B-D-A-IC-SP (Sel-foama—srier—shinym sisa—ad @)

How many cells are used in 12 volt car battery 7
12 3 & wR S ¥ feen @ o ¥ R w1 ¥ 7
(A) 2 (B) 4

(C) 6 D) 8

60 (1918)] == 20
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96 The bottom ring on the piston is called as
(A) Oil ring (B) Scrapper ring
{C) Compression ring (D) Groove ring
frew R H i e ¥
(Ay o T (B) gt o
97  Vibration damper
(A) drives the pulley
{B) controls the torsional vibrations
C) reduces the speed of the flywheel
(D) dampens the engine speed
HE FAHASD
(A) TE B TEET E
(B) UoT wmuel @ Fralsw e ¥
(C) iyare oty & iy & &5 & ¥
(D) 5 @ T ® SEHied B § |
98 Which type of valve is mostly used in an engine ?
(A) Tulip valve (B) Sleeve valve
(C} Rotary valve (D) Poppet valve
g5 A orfumat ey e & aed o R o B 7
(A) i T (B) @i o
(C) W I (D) dive w1
99 Firing order of 4 cylinder Engine is
(A) 1-3-4-2 By 1-2-4-3
(C) 1-3-2-4 (D) All of these
T RAevsT €909 @ GaieT Sel Bl
(A) 1-3-4-2 (B) 1-2-4-3
C) 1-3-2-4 (D) o g
106 Crank shafis are generally constructed by
(A) Casting (B) Drawing
(C) Extrusion (D) Drop forging
% T WIYROTT 99 BT §
(A) w@E @ (B) ET
(C) Frmew (Toage™) © (D) 3@ Bkt
60_(1918)1 = 21
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106 Kumarpal mentioned in "Mahavircharit” by Hemchandra beloged to which dynasty 7
Ey Lo + o

o

191 Who among the following is famous as Vagad Ke Gandhi ?

j Jethi ; ol (A} Parmar B} Chalukya
{A) Arjunlal Sethi (B) Manikya Lal Verma W : (B) Ja

hogi ™ ) Chauhan (D) Gurjar Pratihara
(C) Bhogilal Pandya (D) Ram Narayan Chaudhary (C) Chauhan (D) Gurar Pratihara
&gm 5%—* g ¢ £ 2 oV -
P ddamame s Ny am @ Ty gHE I WO HEERWRG ¥ el SHTER B a3 ¥ o 7
[k A =1 (R AT 4 i g}%%cg f <

ST 3 e ol { EECIEY (B =T

{A} ST el {%} i T S «\fi‘&} LR (B) awd
4 &%’@W‘g’ . 3 r o RS (B‘* ST O -
(C) wPiRTE g (D) =TT gErd (C) e (D) @é\ IREIES

) A - . . . - Which Qah Af Painting i iated with 'Pichhval’ 9
102 Who constructed 'Jaswant Thada', the famous tourist place of Jodhpur ? 167 Which School of Painting is related with "Pichhvar’ %

(A) Kishangarh style Nathdwara style

(A) Jaswant Singh (B) Sardar Singh B)
(C) Ummed Singh (D) Jujhar Singh (C) Alwar style (D) Kota style
SUYR T TRE e W SeEe e @1 Rt feee st ‘Froa’ Trg Rsmar O @ webug §7
(A) wgew fie (B) wwar Rig (A) Trerrme Sl (B) =muEra S«
(C) =T R (D) e fe (C) o Wi (D) @i S
103 In Rajasthan, which of the following ritual is related to marriage ? 108 'Nad' musical instrument is mostly used in which area of Rajasthan ?
(A) Jadula (B) Panghat Pooian (A) Jaisalmer (B) Mewar
(C) Pagdi Dastoor (D) Samela {(C) Bikaner (D) Barmer
7 & ¥ T ¥ few Ofy-Raw o @9y e 9 87 g A N O % few & ¥ el ugE s g7
(A) wigan (B) uwTEe gE (A) SEEET (B) warE
(C) wET & T’ (D) =T (C) T@ET (D) ST
104 The Rajput State that tried to maintain its independence till the death of Aurangzeb 109 Where are the 'Kolvi Caves' in Rajasthan located ?
ijs . | (A) Bundi District (B) Jhalawar District
{C\} ; .aiwar (%i) F;;W&r (C) Kota District (D) Jaipur District
Jaipur 1€ AP . .

( e R (D) Bikaner OO F Cwieer @ e FE sEnyd 87
SO B I T 99T B Wod B B TN BT A egg U 91 . .

(A) da7 Taer (B) wEmErs e
(A) " B) e A \

(C) @ e (D) © Rra
(C) =age (D) qHR A

105 Which one of the following fort is 2 Dhanvan Fort 7 110 Which ruler of Jodhpur wanted to keep his state as an independent unit 7
i 3 & / { £

(A) Gagron Fort (B) Amber Fort (A) Maharaja Hanuwant Singh (B) Maharaja Umaid Singh
(C) Jaisalmer Fort (D) Achalgarh (C) Maharaja Bhupal Singh (D) Maharaja Bhim Singh
P % ¥ @ W gt gl §7 WY F B G EE O T W WA 3o (@ R 87
(A) TR g4 (B) et & gt (A) wETT wgEN Riw (B) wewm v RiE
(C) e gl (D) STEFTE (C) e e R (D) weroen A R
60_(1918)] =+ 23 [PTO.
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111 Match the following and select the correct answer using code
)

(1} Bird Sanctuary

(2y Tiger Project

(3) Black Smk ctuary

(4) Flying Sggmfrei

Code :

(L @) 3 &)
V) @) G 0

(B) } iy (v) (i)

(Cy () @y i) (v)

(D) (i) (v) {éi} ()

(A)

Vs s e

given below :
Keoladeo

(il Ranthambour

{iiiy Tal Chhapar

(iv) S8ita Mata

frer o) goie @it @@ T Ry TR gl o oemaT § W 99X & 99T &g

(1) usly ervaRey

2) T g

(3) T T HHANY
(4) w7 fred

HT ¢

0 @ 6 &
Ay (v) (i) () ()
B) @ @) v) 3
© @ @) @ (v)
D) G (v) () O

() FeerRe
(i) o
(i) e
(iv) dramEmEr

112 Match the following and select the correct answer using codes given below :

(1) Jawahar Sagar Dam
(2) Rana Pratap Sagar Dam
(3) Ummed Sagar Dam
(4) Mahi Bajaj Sagar Dam
Code :

1 @ 6 @
A @ @ () O
B) &) @ @ (o
© @ ® © @
Dy & @ @ (b

(a) Chittorgarh
(b)y Kota

(c) Banswara
(d) Bhilwara

o @l gafaa HINY @ A9 & ) g o TEaa o U8l SUl & 999 Hiwg

(1) et 9 91y
(2) TN waT GR €Y
(3) TWE §FR iy
(4) =7 IS §TR §iY
?ﬁ,":

hH @ 3 @
Ay (@ @ (o b
B) & @ @ ©
€y @ ® { @
D)y b @ @ O

60 _(1918)] ==

(a) R
(b) W
(¢) wigarst
(d) et
24 [P

o]

113

The district of Rajasthan, where the Tropical Thorn forests are found is —
(A) ‘a&}ﬁw (B} Dhaulpur
(L) Ajmer {E.}i} Jaisaimer
(A) wER «u} %3’@’{
(C) smmx (D) SEEaT

What is the source of origin of the Western disturbances that enter Rajasthan 7
(A) Arabian Sea (B) Indian Ocean

(C) Bay of Bengal () WMediterranean Sea

T B YAy B O ae ey @ Sa W ¥ 8 ¥ SR g7

(A) ST 9 (B) &= wEar
(C) ¥ @GRl (D) w7ey 9T

The Tropic of Cancer passes from which of the following district of Rajasthan 7

{A) Dungarpur (B) Udaipur
(C) Pratapgarh (D) Jhalawar
W % b @ few e 9 wd e e 87
(A) TRE (B) w=agX
(C) wre (D) weEE

The Sanctuary through which Mansi-Wakal river passes is ..
(A) Kailadevi Sanctuary (B) Phulwari ki Naal Sanctuary

(C) Nahargarh Sanctuary (D) Kesarbagh Sanctuary

arrarcen Ry gt AeE-Twa o el 5, 9% 8 -

(A) HERET SETCY (B) @RI @ W HHAY
(C) BT A9y () HUEr gy
117 Bhorat Plater is situated between
(A) Alwar-Rajgarh (B) Kumbhalgarh-Gogunda
(C) Banswara-Dungarpur (D) Pratapgarh-Banswara
TS &7 Uer e ooy g &7
(A) FEE-TNTTE (B) Rl
(C) wiEaET-Emgl (D) YaoR—-SiEETE
60 (1918)] == 25 [PT.O
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Which pair is not correct 7

Town Aerodromes
(A) Jaipur Sanganer Airport
(B) Udaipur Dabok Atrport
(C) Kota Kota Airport
(D) Jodhpur Palam Airpot
HE W g GE w7

A FEa
(A) sEgX SIErEiHC
(B) TR Tqi% TARNE
() @ BT FARE
(D) ey T BATSHE
Inceptisols soil are not found at which of the following places in Rajasthan 7

{A) Sirohi (B) Rajsamand
(C) Bhilwara (D) Bundi
T A A ¥ Y W ot SRR g A8l il SR 8 7

(A) REr (B) Te@w<
(C) st (D) <

The temperature of nights in summer suddenly falls in Rajasthan desert because of

{A) Low relative humidity, high temperature during the day and absence of clouds

(B) Presence of lakes, dispersed settlements and high wind speed

(C) Aridity of the environment, clean sky, sandy nature of the soil, shortage of
vegetation

(D) Being low atmospheric pressure, presence of rocks, sand dunes

IR FeEE H UH & aeaE R F seme AR S § s

(A) T gnthe omdar, BE ¥ S ooy w@ SEE @ e

(B) =t o suiufy, afeml & fremn w@ o= agem

(C) ammERT = b, @S s, MY @ SEE v, e & oW

(D) TgASHE TEE F BT BN, T I B SURYN, I % W o guhaldy & e

Which one of the following is not an Inland River of Rajasthan ?
(A) Ghagghar (B) Kantli

(C) 8Sabi (D) Kothari
frefafg § © oF U 9y sfeyeE) wE T8 ¥ 0
(A) @EX (B) i
(C) @y (D) wrery

Which one district of Rajasthan is having common boundary with Madhya Pradesh
and Gujarat 7

(A) Banswara {B) Udaipur

(C) Pratapgarh (D) Dungarpur

TSI &1 g8 e e €1 Jeavssr oo [oaa § Wl 8, 9% 8 -

(A) SraaET (B) sEagy
(C) wawTE (D) gMW

60 (1918)] == 26 [ PT.O.

124

60 _(1918)] = 27

Panchtantra paintings is a salient feature of which style of painting 7
{A) Bundi (B) MNathdwara
(C) Marwar (D) Dhundhar
) <
. - 3,
dea fasiew frg fosdel @ vge gem &7
(A = (B) =g
(C) == (D) gaie

Jagat Siromani Temple of Amber is famous for
(A) Marble statue of Lord Krishna

(B) Black stone statue of Lord Krishna

(C) Red stone statue of Lord Krishna

(D) Silver statue of Lord Krishna
HY W T RRERT A7

(A) F H FHE IR

(B) oW & B T H q

(C) H9 & @ WX B AR

(D) P01 @1 Ffr @ R

Which well known woman of Rajasthan said that "Political freedom had no meaning
without economic empowerment” ?

(A) Ratandevi Shastri (B) Kamla Swadhin

(C) Shanti Trivedi (D) Kalyani Parasar

ToRaE @ few golifae witen & w1 5 R anfifes worgell & Torliow @SR @ @R
oo e 7

(A) Tavedr o (B) wuwr w@ree
(C) onfa fEd (D) wwrll 9N

In which area of Rajasthan are ‘Pandhari ke Modak Swests' famous ¢
(A) Nathdwara (B) Jodhpur
(C) Bikaner (D) Jaipur

A

S % TeY 8 o Cdurdl & Aew e wis § 7

(A) IEET (B) wEugR
(C) W (D) vy
When did the Treaty between Britishers and Karauli state take place 7

(A) Movember 9, 1817 (B) December 9, 1818
(C) January, 9, 1818 (D) December 9, 1817
ST T SN o & mem O me @y e 7

(A) w7 9, 1817 (B) fem=w 9, 1818
(Cy wwarly 9, 1818 (D) Tmwx 9, 1817

Fincaas |
g
perd
-
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60 (1918)] == 28

‘Peacock dancing in the Rain' is characteristic of which style of painting of Rajasthan
(A) lJaipur (B) Bundi

(C) Kishangarh (D) Marwar

Tut ¥ 9 ¢ AR UeerE % feg Rewer S & fagar ¥7

(&) wEFR (B) <&
(C) Fryme (D) =EE

Memand is an ornament of _

{A) Head (B) Hand

{(C) Neck (D) Feet
LR & e

(A) fi (B) =™
(C) T=m (D) &

The main dialect of Western Rajasthan is :

(A) Marwari (B) Mewari
(C) Bagri (D) Shekhawati
afyerl TeRe # T 9

(A) HrErET (B) warg!
(C) arE (D) srarE

Where is the main temple of Sheetla Mata located 7
(A) Amber (B) Chaksu

(C) Sanganer (D) Virat Nagar
sfiaaT =ran @ g miex wel oraRyg ¥ 7
(A) &R

(C) @R

(B) =y
(D) fTe 7}

An important centre of the Ancient Civilization in South-western Rajasthan was
(A) Kalibanga (B) Abhar

(C) Indus (D) Banas

FhFv-ulel TSR @ WEE SR B U6 Seege B 9T

(A) wEET (B) oS

(©) Ry

(D) ==

"Veli Krishan Rukmani Ri" was written by .

(A) Kanhad de (B) Karni Daan

(C) Sadashiv (D) Prithvirai Rathore
EICRE R E & Tra el T

(A) @rEs T (B) welEm

(C) @@ (D) gHEw R

AR

[PT.O.

134 Where was Bharatpur Praja Mand:

(A) Hisar

{C) Bharatpur
- VTEYR USTHTSE W WO e
(A) =T

(C) @R

T %-@
iéjfé; gl

™y o -~
(D) e

135 Which of the following is also known as the Clan goddess of the Rathore dynasty 7

{A) Ban Mata
(C) Annapurna

frfafea & @ fFy Tole TOEY @ oW oW % wg H Al W

(B) MNagnechi
(D) Shakambhari

(A) o (B) wrmeET
(C) arrgmi (D) ey
136 _is the famous Kabaddi Player of Rajasthan who

Maharana Pratap Award.
(A) Nitika Jadeja
(C) Kavita Parashar

{B) Seema Soni

2l
o
Y
vy

has been felicitated with

{D) Rekha Acharya

TeRa @ girE gl fewel § SR wswen Yo (@R ¥ g e o

TH ¥
(A) fger s=ar
(C) wfgar IRHR

(B | 9=y
(D) rEr e

137 On which day is the Gangaur festival celebrated as per the Vikram Samwvat Calendar ?
(B) Chaitra Krishana Tritiya
(D) Kartik Krishana Ashtami

(A) Chaitra Shukla Tritiya
{C) Shravan Shukla Saptami

e deq 99T % oK TR ®ER [6Y & WA 9 8

(A) = g e
(C) g9 g aaHl

(B) =9 7 garn

(D) G Fo7 TR

138 '™iahi Dhawal' is a variety of which important crop in Rajasthan 7

(A) Maize
(C) Wheat

(B) Jowar
(D) Gram

W gEE TR % Y ge BEd @ TF B T 7

(A) v

C) %

(B) W
(D) =

139 Where is the Breeding and Research Centre for Marwari Goats in Rajasthan 7

(A) Bikaner
(C) Jodhpur

(B) Tonk
(D) Pokhran

AT W HICETS] e @ S B UNWE UE SEYE % el Rua § 7
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140 The second highest peak in Rajasthan is

{A) Ser (B) Jarga
(C) Delwara (D) Achalgarh
NEIAL IR I =Rt e st ¥
(A) ®X (B) wom
(C) derrst (D) s
141 Dawla-Singhana region of Rajasthan is popular for the production of which mineral ?
{A) Copper (B) Iron
(C) Silver (D) Gold
ST 1 siee-Rum &5 e whe & sweT % g afe &7
(A) diar (B) wiel
(C) =i (D) <

142 'Amritam Jalam' water conservation campaign is run by
(A) Dainik Bhaskar (B) Times of India
(C) Rajasthan Patrika (D) Hindustan Times
S S W GRET T e T :
(A) fe Wt g (B) wEw oifw shewr g

(C) o uber gl (D) Rgwr TE= &
143 Bisalpur Dam is constructed on which river in Rajasthan ?

(A) Berach (B) Jakham

(C) Chambal (D) Banas

Irewy? gty o ¥ e Td o Ruw §7

(A) ssw (B) wwew

(C) === (D) T8
144 The Nachna breed of camel belongs to .

(A) Jalore (B) Jaisalmer

(C) Nagaur (D) Jodhpur

$e @ T T R 1

(A) &R (B) SR

(C) - (D) wrEq

145 Which district is not included in "Humid South-Eastern Plain’ Agro-Climate region of
Rajasthan ?

(A) Bundi (B) Baran

(C) Kota (D) Udaipur

ST & e (oo og =e-ge dew & iy wwarg Wy # uhafwg W &7
(A) <& (B) =

(C) @i (D) &Iy
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146 Winter rain in Rajasthan is known as —

{A) Cherry Blossom (B) Bordoichhila
{C) Kaal Baesakhi (D) Mavath

G G RS R VG L ¥ i ¥ B % -

(A) 0 = ew (B) =R
(C) = STrEr (D) =ws

147 In which part of Rajasthan bamboo forest is found ?

(A} Western region {B) Eastern region
(C) Southern region (I3) Northern region
(T ¥ BEe N X g wW Uy W ¥ 7

(A) iy e B) o &=

(©) R @ (D) =t &

148 'Rajasthan Forestry and Biodiversity Project’ is sponsored by
(Ay World Trade Organization
(B) World Bank
(C) Japanese International Cooperation Agency
(D) Asian Development Bank
ToTer It wE S fafyuer ofeEr free g uRifeg B
(A) To9T =murR §Te
(B) fuw ¥%
(C) WM I HI-Se™ oo
(D) whrw saaae dw

149 Which one of the following statement is correct 7
(A) National Research Center on Camel is located at Bikaner.
(B) National Research Center on Horse is located at Baran.
(C) Central Cattle Breeding Center is located at Chittargarh.
(D) Central Sheep Breeding Center is loctated at Churu.
Frafafed o 9 &9 O 0B Y9 w9 &7
(A) ¥dm Fe geeT T aEue g Sent ¥ Rud §
(B) HaR oyd oFEE™ S w H Ruw ¥
(C) Hdm My vomw &g ReTe ¥ Ruag ¥
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150 The Indira Gandhi main canal is extended up to

(A) Masitawali (B) Mohangarh
(C) Shahgarh (D) Gadra Road
shey el gea W % fawa @ T T
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